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Time Allowed
* Reading time — 5 minutes

* Working time — 60 minutes

Instructions
* Attempt all questions.
* All necessary working must be shqwn in all questions.

* Approved calculators and templates may be used.
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2. (2) Onthe same axes sketch the graphs y=x*+2x and y= l X +2l clearly indicating

their intercepts and points of intersection.

(b) Hence find the values of x for which  x? < 'x + 2' -2x.

N

3. Find in its simplest form the exact value of  cos160°cos50° - sinl 60°sin50°,

4. Use 105° = 60° +45°, to find in its simplcst form the exact value of tan105°.

Graph the solution of 6 —1x| P2 % on a number line.

6. A x3-1
Smehfy fully ——%——:
’ X2 - X7

7. - = tan 8 1 = 0
Use the substitution t=tan+, to show that Tosest —coty = cot3-

8. 1+cos20 _

(a) Prove that 0 cotd .

(b) Hence find in its simplest form the exact value of the exact value of A;ot75° .

On a number plane, shade the region for which  y> 4 [o-x2.
10 Solve sin26 = 2_00529 for 0°<0<360°,

1. Sketch the function y=1- %  clearly indicating its asymptotes and infercepts.
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120 (@ Simplify 1-2sin

(b) Given sin54° = g_—l , find in its simplest form the exact value of cos108°.
13, Given cost =% and 270°<0<360°, find the exact value of tan%.

14, R
Simplify fully —S=2%9_
(3-x)?

15. () Solve x(1-x*)>0.

'(b) Hencesolve sinx(l-sin’x)>0 for 0°<0<360°.
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